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QUESTION 1

What is the best way to split up teams on a large project which is implemented using Scrum? 

A. Group by domain expertise. 

B. Group by features being developed, 

C. Group by specialty of the team members. 

Correct Answer: B 

 

QUESTION 2

From which sport is the term "Scrum" and much of the terminology derived? 

A. Kick boxing 

B. Polo 

C. Rugby 

D. Soccer 

Correct Answer: C 

 

QUESTION 3

A team selects a Product Backlog Item (PBI) for the Sprint Backlog. What must a team do to finish the Product Backlog
Item it selects? 

A. As much as can be done in the Sprint before the deadline. 

B. As much as is required to satisfy the definition of \\'done\\'. 

C. Analyze, design, program, test and document the PBI. 

Correct Answer: B 

 

QUESTION 4

What message can you give to a customer about a key benefit of using Scrum? 

A. Scrum will give customers more control over day-to-day activities. 

B. Scrum will help the team accept changes into the project at no additional cost. 

C. The team will show a demonstration of working software every few weeks. 

EX0-008 PDF Dumps | EX0-008 VCE Dumps | EX0-008 Exam Questions                                2 / 3

https://www.geekcert.com/ex0-008.html
https://www.geekcert.com/ex0-008.html
https://www.geekcert.com/ex0-008.html


https://www.geekcert.com/ex0-008.html
2024 Latest geekcert EX0-008 PDF and VCE dumps Download

Correct Answer: C 

 

QUESTION 5

A user story was estimated at five ideal hours. On a normal eight hour working day, the team gets about four hours of
actual work time. 

What would be the elapsed time required to complete the Story? 

A. One day and two hours 

B. Two days 

C. Five hours 

Correct Answer: A 
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